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CLASS: VIII
DAILY ASSIGNMENT-24
DATE: 16. 05. 2020 (Week-4)
SUBJECT: ENGLISH
Multiple Choice questions
TOPIC: UNSEEN PASSAGE

Read the given passage carefully:

My next pet was a pigeon, the most revolting bird to look at, with his feathers pushing
through the wrinkled scarlet skin, mixed with the horrible yellow down that covers baby
pigeons and makes them look as though they have been peroxiding their hair. Because of his
repulsive and obese appearance, we called him Quasimodo.

Since he had an unorthodox upbringing, without parents to teach him, Quasimodo became
convinced that he was not a bird at all and refused to fly. He walked everywhere. He was
always eager to join us in anything we did. He would even try to come for walks with us. So,
you had to either carry him on your shoulder, which was risking an accident to your clothes,
or else you let him walk behind. If you let him walk, then you had to slow down your own
pace to suit his, for should you get too far ahead you would hear the most frantic and
imploring coos and turn around to find Quasimodo running desperately after you.

Based on you reading of the text, choose the correct option for the questions given
below:

1. The narrator describes the pigeon as a ‘revolting bird’ because
he could not fly
he had to be carried everywhere
he had wrinkled skin covered with yellow feathers
he was fat

2. Quasimodo got his name because
he was a fat and ugly
he was attractive
he could not fly
he loves behaving like human beings

3. We know that Quasimodo was always eager to go on walks because
he walked everywhere
he did not know how to fly
he complained loudly if he was not taken along
he always copied whatever humans did

4. Quasimodo protested when he was
left at home
lifted on human shoulders
taken for a walk
left behind during walks



a)

c)
d)

5. The phrase ‘risking an accident to your clothes’ means
the bird pecked at their clothes
there was a chance of the bird soiling their clothes
the bird risked a fall
the bird did not like their clothes

SUBJECT: COMPUTER
Multiple choice questions:

1. The network which may be as small as a group of buildings in a campus to as large as
covering the whole city.

a) LAN

b) MAN

c) PAN

d) WAN

2. The size limit of OLE objects data type in MS ACCESS is:
a) 2 GB
b) 3 GB
c)4GB
d) 6 GB

3. Which of the following displays information about the current object or view?
a) Table

b) Record

c) Datasheet

d) Status bar

4. Microwaves waves are which type of communication media?
a) Wired media

b) Unguided media

c) Wireless media

d) Both ‘a’ and ‘b’
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5. Identify the topology.
a) Star topology

b) Ring topology

¢) Hybrid topology

d) Bus topology



SUBJECT: MATHS
Multiple choice questions:

1. Which of the following is a perfect square?
a. 35
b. 625
c. 48
d. 80
2. Which of the following is a perfect cube?
a. 81
b. 36
c. 27
d. 64
3. Which of the following is the number of zeros in the square of 900?
a. 3
b. 2
c. 4
d 1
4. Find the cube of 4/5.
a. 16/25
b. 64/125
c. 64/225
d. 16/225
5. Find the sides of a cubical box whose volume is 729 m?.
a. 8

b. 9
c. 7
d. 6
SUBJECT: PHYSICS

Observe the picture and answer the following question.
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Multiple choice questions:
1. The effective force on block A is

a2 N
b)18 N
c)ON
d) 10N
2. The effect of force on block B is
a) does not move
b) moves to west direction
€) moves to east direction
d) all of the above
3. The effect of force on block A is
a) does not move
b) moves to east direction
€) moves to west direction
d) question does not provide sufficient data or is vague
4. The effective force on block C is
a)ON
b)2N
C)18 N
d)10 N
5. The effective force on block B is
a)0ON
b) 16 N
c) 11N
d)20 N
SUBJECT: CHEMISTRY

Multiple choice questions:

1. Which of the metal or non-metal is used in water purification
A) lodine
B) Nitrogen
C) Chlorine
D) mercury

2. used in making shields and bullets
A) Al
B) Fe
C) Pb
D) Mg
3. Diamond and graphite are allotropic forms of
A) O
B) C
C) N
D) Si



4. is a non- metal used as an antiseptic on wounds and cuts
A) Sulphur
B) lodine
C) Chlorine
D) Potassium

5. Which gas is filled in an electric bulb
A) Helium
B) Neon
C) Argon
D) Silicon

SUBJECT: BIOLOGY

Multiple choice questions:

1. The protozoan that lives in the body of termites is:
(@) Plasmodium

(b) Trichonympha

(c) Trypanosome

(d) Leishmania

2. Common cold is caused by:
(a) TMV

(b) Coccus

(c) FMDV

(d) Rhinovirus

3. Food gets spoilt when it is attacked by:
(a) Bacteria

(b) Fungi

(c) Virus

(d) Both (a) & (b)

4. A small dose of dead or weakened microbe is:
(@) Vaccine

(b) Antibiotic

(c) Pathogen

(d) Microorganisms

5. What do you mean by” first animal”?
(a) Protozoa

(b) Virus

(c) Bacteria

(d) Fungi



SUBJECT- HISTORY
Multiple choice questions:

1. There are main system of Indigo cultivation.
a. 3
b. 2
c. 1
d 4
2. Indigo cultivation expanded rapidly in Bengal during
a. 17" Century
b. 19" Century
c. 18" Century
d. 16" Century
3. The Mahalwari , Zamindari and Ryotwari are different system of
a. Land Settlement
b. Land Revenue
c. Both (a) and (b)
d. Blue Rebellion
4. Muskets Refer to.
a. Foot Soldiers
b. Matchlocks
c. Gun Powder
d. Heavy guns used by the infantry
5. Rayanna, was caught and hanged by the British in
a. 1830
b. 1730
c. 1880
1780

SUBJECT: GEOGRAPHY
Multiple choice questions:

1.Humus or organic matter lies in which horizon of soil profile ?
A. B-horizon

B. A-horizon

C. O-horizon

D. C-horizon

2. The layering arrangement depend on speed and

A. Time

B. Climate

C. Land

D. Types of weathering



3. The broken rock , upon which all the three layers rest is called the
A. Weathered zone

B. Bed rock

C. Sub-soil

D. Top soil

4. Which one is not a man-made cause of soil erosion?

A Deforestation

B. Chemical fertilizers

C. Pesticides

D. Wind erosion
5. When rain falls, the fine grained nutrients of the top soil are leached to horizon
A. R-Horizon

B. A-horizon
C. B-horizon

D. C-Horizon
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